Housing Discrimination

Sample Multiple Choice Questions #1:  
Review Problems 2C and 3A

Questions 1-3 are based on  Part 1 of Review Problem 2C.

Assume Ludmilla had adopted to exclude families from being tenants in her building if they send their children to expensive private high schools like St. Damian’s.
(1) Which of the following would be a plausible argument that the policy is arbitrary under Marina Point?

(a) Ludmilla based the policy on her personal experience with private school children.
(b) If the policy is allowed, the families in question may have trouble finding rental housing.
(c) The policy will have the effect of excluding wealthier families.
(d) None of the above. 
(2) Which of the following is a plausible argument that the policy is not arbitrary?

(a) Excluding entire families because the children are in a private school has a rational basis because the parents decided on private schools.
(b) Because of the bullying, Ludmilla had a good reason for implementing the policy.   

(c) Because the policy excludes some families with children, it is barred by Marina Point itself.
(d) None of the above. 
(3) Assuming Tatiana brought a suit challenging the policy, which of the following are facts relevant to deciding the case? 

(a) There is insufficient evidence that Ludmilla was discriminating against Russians.
(b) Studies show that children attending private schools are more likely to commit crimes like driving under the influence and vandalism.   

(c) The building in question is in Novi’Odessa.
(d) None of the above.  

Questions 4-6 are based on  Review Problem 3A

(4) Based just on the text, which of the following is a plausible argument that the  ad violates 3604(c)?

(a) The repeated use of “perfect” suggests that less than perfect people ore not welcome.
(b) By referring to weights and tennis courts (which are unlikely to be used by disabled individuals) an ordinary reader would see a dispreference for the “handicapped.” 
(c). “World-class” suggests a dispreference for the “handicapped.” 
(d) None of the above. 
(5) Based just on the human models, which of the following (if true) is a plausible argument that the ad violates 3604(c)?
(a) The ad contains nine pictures with thirteen human models, but there are no pictures of visibly disabled people nor of clearly accessible parts of the  facilities.
(b)  Inclusion of people of different races suggests that HH doesn’t discriminate.
(c). Failure to include senior citizens (who often are disabled) suggests a dispreference for the “handicapped.” 
(d)  All of the above. 
(6) Based the ad as a whole, which of the following is a plausible a6gument about whether the ad violates 3604(c)?
(a) Because there is no reference to “equal opportunity,” an ordinary disabled reader will likely view the ad as discriminatory.
(b) An ordinary reader is unlikely to notice the absence of specific references to disabled individuals.
(c). The inclusion of 50-year old models signals that people with disabilities are welcome.
(d) All of the above. 
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